Triangle Similarity Worksheet

1.  What is the length of 7X? Show or
in how you got your answer.
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2. Triangle ACD shown below is similar to
triangle ABE.

e the measure of EB = 6 units

e the measure of DC = 8 units

o the measure of AD = 12 units
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What is the measure of AE?
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Note: The figure is not drawn to scalg
,r What is the value of x? ;
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4.

Look at this diagram.

In this diagram, PQ is parallel to ST.
What is the length, in centimeters, of
RT?
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a) What is the ratio of the longer 39 L A
given distance to the shorter given 7T F\ES
distance in triangle BED?

b) Are trfangles BAC and BED similar?
Explain your reasoning. ﬁﬂ ~N

c) Write a Proportion that can be used

|
to find d, the distance across the lig :2—.—_
pond. \z

1600 = izd i

[d=933%cel]

d) What is d, the distance across the
pond? Be sure to show your work.

Glven: AD =6;DC=3
BE=4,EC=2
Prove: ACDE ~ ACAB
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